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#include <stdio.h>

unsigned long
next_state(unsigned long x)
{
if (x % 2 == 0) {return(x/2);}
else {return(3*x+1);}

}

main(void)
{
unsigned long state, kosu;
int i;
printf ("0 00000000 O0ODOO0O0O0O0O0O a0000000OON\n");
printf (" a=");
scanf ("%d",&state) ;
printf ("0 00000000 O0OO00O0O0O0OO0O0ON. OO=");
scanf ("%d" ,&kosu) ;
for (i=0; i<kosu; i++) {
printf("%d ", state);
state = next_state(state);
}
printf ("\n");
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#include <stdio.h>

void bunkatsu(int n, int depth)
{

int i,j;

printf ("+%d\n",n);
for (i=1; i<=n-1; i++) {
for (j=0; j< depth; j++) printf(" ");
printf ("+%d", i);
bunkatsu(n-i,depth+1);
}
}

main(void)
{
int n;
printf("n 0000000000000 0n0O000OO0OODOONn";
printf (" n=");
scanf ("%d",&n) ;
bunkatsu(n,0);
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#include <stdio.h>
#define N 10000
main(void)
{
long i;
double a=0;
double sign=1;
for (i=1; i<N; i++) {
a += sign / (2%i-1);
sign = -sign;
X
printf ("pi is nearly %.10f\n", 4xa);
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